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273 Work and motion

Al
A 60kg crate moves along a horizontal frictionless @
surface. Alice pulls up and left on the crate with 300N Bob
a 300N force as illustrated. Bob pulls right with a 300 400N
400N force. The crate is initially at rest and moves —~——- —~ i

&.6 5m to the right while they pull on it. (131F2024)

a) Determine the work done by Alice on the crate.
b

) Determine the work done by Bob on the crate.
c) Determine the net work done on the crate.
)

d) Determine the speed of the crate at moment that it reaches 5.0 m from its starting point.
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